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Algebraic operations
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Complex conjugates again
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Triangle inequality
Using the vector interpretation of complex numbers
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The angle O is ambiguous We burn it up to
addition by Zak where k is an integer
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O is called an argument of Z
It is ambiguous it is a multi valued frution
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Can we make things less ambiguous
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consists of only one point This is single element
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Note that in the above the only member of
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The complex exponential

We want to make sense of et when ZEE

It should have the following properties
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Recall from diff equs if gey is a function
sunk that dy g ly g ly then
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The above is from the theory of diff equi
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Example I e't do this yourself
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So AngCz has a discontinuity along the

repute se axis This is called a branch

out
In general arge z has a discontinuity

along the line making an angle 2 with the
x axis
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